INSTRUCTIONS:

· Answer all questions in section A and any two questions in section B

SECTION A

1. Compare and contrast the core assumptions of neo classical economics and new institutional economics. (5marks)

2. Define the concept of institutions as used in the new institutional economics literature and explain its role in economic development. (10marks)

3. Explain why market exchange in Africa is much more costly, cumbersome, time consuming and unpredictable than in developed countries.  (10marks)

4. Define the concept of Moral hazard and Adverse selection and use examples to show how they are linked to transaction costs.  (5marks)

SECTION B

5).  a. Briefly state and explain the problem of contractual commitment when enforcing contracts.  (5marks)


b. Discuss the enforcement mechanism that can be used to enforce the contracts.  (10marks)


c. Explain the five consequences of weak property rights in developing countries.  (5marks)

6)
a. Discuss eight key African agricultural development challenges that have not yet been resolved by agricultural economist. (15marks)


b. Explain the two major sets of factors that determine the success of collective action according to Gaspart and Platteau (2002).   (5marks)

7)
a. Using a well labelled diagram explain the framework for analyzing institutions. (15marks)


b. Property rights usually refer to a bundle of rights. Briefly explain this statement.  (5marks).

